PILOT Learning
Organic Chemistry | — Dr. Townsend

Problem Set #11
Fall 2018
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4. Rank the following from the best to worst leaving group
CHsCHzl CH3NH2 CH30OH CH2CH3CI

5. Rank the following in order of decreasing nucleophilicity in a protic solvent (methanol). How would this
change in a non-protic solvent? Explain your reasoning in terms of basicity and polarizability.

I- CH30- Br- NH3 F-

6. Predict the product for the following reaction and write out the mechanism.

/\/ Br NaOH >

7. Rank the following in order of decreasing nucleophilicity.
CH,4

H3C+O-

(o} CH3 OH"

H3CH,C

8. Discuss the relative rates of reaction for the following cyclohexyl iodides and draw the products they would
form when reacted with NaNH2.
H I
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